Final Exam: June 7, 2003

1. (15 points) Assume that f(z) is an odd function with the following Fourier sine series

= ansin@x, for 0 <z < L.
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2. (25 points) Find the Fourier series of the following periodic funetion:
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3. (20 points) Using the Fourier series of the following periodic function:

f($+27r):f(x):{ 0 if —r<z<0
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4. (10 points) Find the Fourier transform of the following functiomn
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Quiz #5 (CSE 400.001)

Tuesday, June 3, 2003

Name: E-mail:

Dept: ID No:

1. (10 points) Show that
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using the Fourier series of the function f(z) =
(/2 <z <3n/2), and f(z) = f(z + 2m).
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2. (10 points) Using the Fourier sine integral, show the following equivalence:
o 3 sin Tw T _,
————dw = —e “cosz, if x> 0.
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